Chapter 38: Digestion

Study Guide

1.  After removal of the gallbladder, a patient is told to stick to a low-fat diet. Why?
2. How would the relative lengths of the small intestine of a carnivore and an herbivore compare? How would a human’s small intestine compare to the other two?

3. Trace the path of a cheeseburger, containing starches, fats, proteins, and nucleic acids, as it travels through the human digestive tract. Explain each step of the process in detail.

4. Match the digestive structure with the physical action that occurs there. There may be more than one action per organ, and one action may occur in more than one organ.

A) mouth


1) moistening

B) esophagus


2) peristalsis

C) stomach


3) fat emulsification

D) small intestine

4) churning

E) large intestine

5) most nutrient absorption

6) most water absorption





7) chewing





8) waste elimination

5. Match the digestive structure with the chemical action that occurs there.  There may be more than one action per organ, and one action may occur in more than one organ.

A) mouth



(pepsin)

1)protein->polypeptides

B) esophagus



(amylase)

2)starch->maltose

C) stomach



(peptidase)

3)polypeptide->amino acid

D) small intestine

4) vitamins synthesized

E) large intestine


(amylase)

5)starch->disaccharide






(protease)

6)protein->polypeptide

6. What is the advantage of the same digestive enzyme in the mouth and the small intestine?

7. What are three advantages to having a complete (2-opening) digestive tract over an incomplete tract?

8. Name the two organs that are helpful in digestion, though they are not exclusively digestive organs, and describe their roles in the process.

9. From a diagram, identify the eleven major human digestive structures.

10. Explain why a herbivore, such as a deer or a cow, would need more stomachs than a carnivore or omnivore.

